M017: Functions
Answers: 1. C, 2. B, 3. C


1. Harry made the input-output table shown below. 

	Input(x)
	Output(y)

	3
	8

	4
	10

	5
	12

	6
	14


Which of the following expressions is true for all values in Harry’s input-output table?
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Source: MCAS: 2008, Mathematics - Grade 6
http://www.doe.mass.edu/mcas/testitems.html
2. The values for a function of x are in the table.  What is the range of the function?

	x
	y

	1
	3.14

	2
	12.56

	3
	28.26

	4
	50.24
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Source: Virginia Standards of Learning, Spring 2009 Released Test Grade 8
3. What is the domain of this relation?
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Source: Virginia Standards of Learning, Spring 2009 Released Test Grade 8
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